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& B HEy 2 g0 42 T 827 12.01 70.0
B EH EE 41| 44 85 12.0/ 73.0
3‘LL M ZEH 45| 40 85 11.0 74.0
A BEE  KEH 41 44 85 11.0 74.0
bl B 45| 43 88, 12.0/ 76.0
AE N = 42| 42 84 8.0 76.0
160 =l SRR 40| 35 75 -2.0 71.0
8 Ak 43| 40 83 6.0 77.0
L BAR [E— 41| 45 86 9.0 77.0
104 & EB 42! 46 88 11.0/ 77.0
[REARES E 974 48| 42 90 12.0/ 78.0
1260 |6 42| 36 18 0.0 78.0
13 K% #FF 45| 40 85 7.0/ 78.0
146 ER E—8 1733 8 6.0 79.0
151 fHE BR 45| 44 89 10.0 79.0




Bl BIVSRA ouT  IN GROSS  HDCP NET

2 B U 5 50/ 50, 1007 28.0] 72.0
B ZH BHA 50! 47 97 22.00 /5.0
M HIl X 46/ 45 | 91/ 16.0 75.0
i | KK 5% 45| 48 93/ 17.0/ 76.0
biii F HRE 511500 |101] 21.0 80.0
6 AE *tE 61 52| 113, 31.0 82.0
3L I0pE  E— 54/ 490 (103] 21.0, 82.0
8. HE M®E 49 47 | 96/ 14.0 82.0
O {ERAKR =Z=EE 5850 108 25.0/ 83.0
1062 /NE  Fim 52153 105] 22.00 83.0
1142 P8I ©— 51| 46 97 13.0 84.0
1260 FIE E— 56/ 520 [108) 24.0, 84.0
13652 Mg BA 51| 48 99 15.0 84.0
146 B FE=E 50 520|102/ 18.0/ 84.0
15462 R E— 50 53 (103 19.0 84.0




Al LT1s—R ot IN GROSS  HDCP NET

B I = F 1 39/ 39 78] 6.0/ 72.0
HEER BB beH 43 42 | 85 9.0 76.0
36 HHE F 53 490 102 25.0/ 77.0
M1 FHFT M 44| 40 84 7.0 71.0
b thAT Fx 41139, | 80, 3.0 77.0/
6L K5 =HY 43| 40 83 5.0 78.0
161 BB =3 37| 46 83 4.0 79.0
8 ik EBEx 48| 41 89 9.0, 80.0
O4iL h  #BF 45| 42 87 7.0 80.0
106 ERAKR BE 44| 43 87 7.0/ 80.0
11 R EBRF 47520 99/ 19.0/ 80.0
120 &l & 48 52| 100/ 18.0 82.0
1361 =8 FTERF 51| 48 99, 16.0 83.0
1441 146)1 EF 46| 48 94/ 8.0/ 86.0
1542 & BF 2960 109, 23.0/ 86.0




